
MODEL ENGLISH SCHOOL - DOMBIVLI 

FIRST UNIT TEST 2024-25 

SUBJECT: SCIENCE AND TECHNOLOGY- PART- I 

STD: X 
DATE : 05/08/2024 

Q.1 A] Choose the correct answer and wrlte the alphabet of it. 

A) Roasting B) Electrolysis 

1. The process in which carbonate ores are strongly heated in a límited 

supply of air to transform them into oxides is known as 

B] Do as directed: 

1. Complete the correlation. 

2. According to Mendeleev's periodic law, properties of elements are 

periodic functions of their 
A) Atomic numbers 
C) Densities 

2. Name the following. 

Group 1: Alkali metals :: -;Halogens. 

An alloy of copper and zinc. 

Q.Il A] Give scientific reason: 

Justify? 

C) Tinning D) Calcination. 

1. Sodium is always kept in kerosene. 

B) Atomic masses 
D) Boiling point. 

B] Answer the following questions. 

MARKS: 20 
TIME : 1 hr. 

CuSOag) +Fes) 

1. Verify if Li (6.9), Na (23.0), K (39.1) form Dobereiner's triad. 

’ 
2. Complete the given chemical reaction. 

Name the type of reaction. 

(2) 

oeeeosoh(2) 

(2) 

(4) 

P.T.O 



Q.l Answer the following (Any 2) 

1, Write short note on structure of the modern periodic table, 2. Answer the questions based on given diagram. 
Anode (Graphite) 

Steel 
tank 

Molten 
aluminíum 

:2: 

any one. 

Cathode 
(Graphite lining) 

Q.IV. Answer any one question 

Mixture of alumina, 
cryolite and fluorspar 

Ca) What is function of cryolite and fluorspar in this process? b) Why do you think molten aluminium gets collected at the 
bottom of tank? 

c) Write anode reaction in Electrolytic reduction of alumina. 

Outlet for molten 
aluminium 

b) Name the precipitate? 

3) What are the factor affecting the rate of chemical reaction? Explain 

a) What is the colour of the precipitate formed? 

1) If the solution of K,CrO4 ( Potassium Chromate) is mixed with 
barium sulphate solution (BaSO4) 

(6) 

c) What is type of chemical reaction? Define it. 

d) Write the balanced chemical equation. 

2) Explain Hydraulic separation method with a neat labelled 

diagram. 

(4) 



STD: X 

MODEL ENGLISH SCHOOL- DOMBIVLI 
First Unit Test (2024-25) 

Subject: Maths II 
DATE: 08/08/2024 

Q.1. A) For each of the following sub-questions four alternative answers are 
g0ven, Choose the correct alternative and write its alphabet: 

1. In a right angled triangle the sum of the squares of the sides making right angle is 
361, then what is the length of the hypotenuse? 
A) 17 

2. If A ABC ~ A PQR and 
A) 4:5 B) S:4 

1. 

B) 19 

B. Solve the following sub - questions: 

C) 13 

1. In A ABC, AB=6V3 cm, AC= 12cm, BC= 6cm, find the measure of ZA. 
2. 

R 

AC 

In A PQR, NM || RQ. If PM= 15, MQ= 10, NR=8, then find PN. 

Q.2. A) Complete the following activity and rewrite it : 

CE 

12 

D) 18 

A(A ABC): A(A POR) = 16:25, then find AB :PQ. 
C) 16:25 D) None of these 

In the figure if AB | CD | EF, then find X. 
Activity: 

MÁRKS: 20 
TIME: 1 Hour. 

A 22 C 12 E 

seg AB | seg CD || seg EF ........ (Given) 

(2) 

2... 

(2) 

(2) 



3. 

2. 

B) Solve the following questions (Any 2): 

1. 

In figure LQPR=90°, seg PM l seg QR and QM-R. PM =10, 
QM= 8, find QR. 

AP 

8 m 

A 

Cp 

R 

P 

In figure PM= 10cm, A(A PQS) = 100 sq.cm, A(A QRS) =110 sq.cm, 
then find NR and QS. 

DP 

S 

In the figure,seg AC and seg BD intersect each other in point P 

and 

(4) 

=Prove that A ABP ~A CDP 

314 

.....3... 



:X TE: 07/08/24 

. Do as 
directed: 

1.Make a mne? 
call * 

2. Ident 

2. 

4 

Q.3. Solve the following questions (any 2): 

:3: 

1. In APQR, point S is the midpoint of side QR. If PQ=11, PR=17, PS=13, 
find QR. 

B 

D 

(6) 

In trapezium ABCD side AB || side DC, diagonals AC and BD intersect in point O. If AB-20, DC=6, OB=15 then find OD. 
3. Prove that � In a right angled triangle, the square of the hypotenuse is equal to the sum of the squares of remaining two sides". 

In AABC, AP L BC, BQ 1 AC, B-P-C, A-Q-C then prove that A CPA ~ A CQB. If AP=7, BQ=8, BC=12 then find AC. Q.4). Solve any one of the following question: 
1. Pranali and Prasad started walking to the East and to the North respectively, from 

the same point and at the same speed. After 2 hours distance between them was 
15V2 km. Find their speed per hour. 

(4) 

.4..... 



2. 

1) 

In A ABC, B-D-C and BD= 6, BC=18, AM-7, then find the following ratios. 

2) 

A(AABD) 
A(AADC) 

A(AABD)tD 
A(AABC) 

M 

iSu A(AADC) 
3) A(AABC) 

:4: 

4) Also find A(AABC). 
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MODEL ENGLISH SCHOOL, DOMb, 
FIRST UNIT TEST. 2024-25 

DATE: 07/08/24 

Q1. Do as directed: 

'call in' 
1.Makea meaningful sentence using the phrase: 

SUBJECT -ENGLISH 

2. Identify the type of sentence: 
Take what you please. 

SectionI 
(Language study) 

3. Punctuate the following sentence: 
did you hear him he whispered 

4. Change the degree of comparison. 

I asked, "Can you feed me?" 
"Can you cook?" 

Q.II Read the following extract and do the activities : 
A.1 Complete the web from the passage : 

"I can cook," I lied again. 

Section II 
[Textual Passagel 

Anil's qualities 
highlighted in the 

passage 

The biggest challenge knocking on the doors of human kind is fear 
and intolerance. 

MARKS: 20 (5) 
TIME:1 Hr. 

"If you can cook, then may be I can feed you." 

(5) 
(1) 

(1) 

(2) 

(5) 
(1) 

P.T.0. 

PosiWt -No etler chaclange kro wkig on He 





A.1 Match the column: 

QI Read the extract and do the activities: 

A 

-3 
Section III 
[Poetry] 

1. They have their exits and their entrances 2. Creeping like snail 

All the world's a stage, 

3. Mewling and puking in the nurse's arms 4. With eyes severe and beard of formnal cut 

And all the men and women merely players; 
They have their exits and their entrances, 
And one man in his time plays many parts, 
His acts being seven ages. At first, the infant, 
Mewling and puking in the nurse's arms. 
Then the whining schoolboy, with his satchel 

And shining morning face, creeping like snail 
Unwillingly to school. And then the lover, 
Sighing lke furnace, with a woeful ballad 
Made to his mistress' eyebrow. Then a soldier, 
Full ofstrange oaths and bearded like the pard, 
Jealous in honour, sudden and quick in quarrel, 
Seeking the bubble reputation 
Even in the cannon's mnouth. And then the justice, 
In fair round belly with good capon lined, 

With eyes severe and beard of formal cut, 
Full of wise saws and modern instances; 
And so he plays his part. 

Section IV 
(Writing Skill] 

B 

A.2 What is the central theme of the poem according to you? A.3 What is the rhyme scheme in the above extract? 

Q. IV Expand the following idea. Give a suitable title. Be the change you want to see' 

Simile 
Inversion 
Onomatopoeia 
Metaphor 

(5) 

(2) 

(2) 
(1) 

(5) 



2. 

STD :X 
DATE : 12/08/24 

satements : 

MODEL ENGLISH SCHOOL, DOMBIVLI. 

FIRST UNIT TEST 2024-25 

QUA. Choose the correct option from the given options and complete the 

l. Aonding to 

3. 

SUBJECT - History & Political Science 

2. Meera Kosambi's book 

Essays in Social History. 

1. 

all the doubts are solved. 
a) Voltaire 
c) Michel Foucault 

a) Stripurush Tulana 

c) M. G. Ranade 

c) Crossing Thresholds d) Writing Caste, Writing Gender. 

founded Bharat Itihas Samshodhak Mandal in Pune. 

a) V. D. Savarkar b) V. K. Rajawade 

b)Karl Marx 
d)Rene Descartes 

B. Identify the wrong pair and write it : ht ent 

1. Voltaire 

one should never accept anything as the truth till 

1. Nationalistic Historiography 
2. Marxist Historiography 

2. Karl Marx 

b) The High Caste Hindu Woman 

3. Subaltern Historiography 

3. Michel Foucault 

4. Feminist Historiography 

4. Rene Descartes 

1. Dialectics 

d) Govind Sakharam Sardesai. 

consists of Feminist 

MARKS: 20 
TIME :1 hr. 

Q.II Explain the following concept. 

-1 

France 
Germany 
Germany 
France 

[3] 

(2) 

V.D. Savarkar 
Damodar Kosambji 
Ramchandra Guha 
Tarabai Shinde 

(2) 

P.T.O. 



Q.III Explain the following with reason. 

-2 

1. Bakhar is an important type of historical documents. 

Q.IV Answer the following in detail. 

2. Historical research was driven to focus in depth on various aspects of Women's life. 

1. What is the contribution of Itihasacharya V. K. Rajwade to historiography? 
Q. VChoose the correct option and complete the sentences. 

1. The 73r and 74t" amendment reserved 
women in local self-governing institution. 

a. 34% b. 37% c.33% 

Q. VII Answer in brief, 

d.35% 

2. Loksabha elections held after every five years are called 
a. Midterm Election b. General election 
c. By-electiond. Selection 

of seats for 

(4) 

k******* **** 

Q. VI State whether the following statement is true or false. Give reason for 
your answer. (2) 

1. Explain the meaning of Code of Conduct.ae. 

(3) 

1. Secrecy in the working of government has increased due to Right to 
Information. 

(2) 

(2) 



MODEL ENGLISH SCHOOL, DOMBIVLI. 
FIRST UNIT TEST 2024-25 

SUBJECT -Science & Technology Part- II 
STD: X 
DATE: 07/08/24 

Q.1AChoose the correct alternative and write its alphabet against the sub question number. 
i) The causality behind the sudden changes was understood due to 

principle of Hugo de vries. 

a) natural selection 
c) division 

ii) Phylum Porifera shows 
a) cellular 
c) tissue-organ 

B. Do as directed: 

b) mutation 
d) evolution 

Q.II A Give scientific reason: 

b) protoplasmic 
d) organ 

) State whether the following statement is True or False 

B. Answer the following : 

grade of body organization. 

MARKS: 20 
TIME: 1 Hr. 

ii) I am a marine animal, live in burrows in sand Notochord is present in proboscis region only. Which phylum do I belong to ? 

Animals belonging to phylum-Annelida perform locomotion with the help of pseudopodia. 

Our body irritates if it comes in contact with jelly fish. 

) Write the characteristics of vertebrates. 

-1 

[2] 

[21 

21 

[4] 

P.T.0. 



i Identif the given diagram and write the names of marked parts. 

2. 

mRNA 

-2 

QIM Answer the following (any 2) 

tRNA 

Codon 

1 

Q.IV Answer any one of the following. 

i. Write hree distinguishing characters of phylum-Echinodermata. 
ii. Writea short note on connecting link. 

i. Sketch, label and classify Hydra. 

mRNA 

A mino A cid 

ii. How are the hereditary changes responsible for evolution? 

tttttt***& 

[6] 

[4] 

i. Define vestigial organs. Write names of two vestigial organs in human 
body and write the names of those animals in whom same organs are 
functional. 

fr. 



STD: X 

MODEL ENGLISH SCHOOL � DOMBIVLI 
First Unit Test (2024-2025) 

DATE: 06-08-2024 

Q.I.A. Choose the correct answer and write the alphabet of it. 
1. The roots ofx2 + kx + k=0 are real and equal, find k. 

A) 0 B) 4 C) 0 or 4 

3 

2. Which number cannot represent a probability ? 

A); 
B. Solve the following. 

Subject: Mathematics (Paper-) 

2. Find the value of a+B and a. B . 

Solution: 

1. Write sample space 'S and number of sample points n(S). 
One coin and one die are thrown simultaneously. 

B), 

x? + 5X - 1=0d 

QILA. Complete the following activity. 

.nS) = 
'S' is the sample space. 

C)0.7 

1. A card is drawn from a well shuffled pack of 52 playing cards. 
Find the probability that the card drawn is a red card. 

. p(A)= = 

Total red cards = n(A) = 

:. p(A) = 

D) 2 

n(S) 

D) 15% 

MARKS:20 
TIME: 1 Hr. 

(2) 

(2) 

(2) 

P.T.0. .. 

3l14 



B. Solve (Any 2) 
1. Solve the following quadratic equation by factorisation method. 

5m' = 22m + 15 

2. Determine whether the values given against the quadratic equation are the 
roots of the equation. 

Q.II. Solve the following. (Any 2) 

...2... 

x + 4x - 5 = 0, x = 1,-1 

3. Joseph kept 26 cards in a cap, bearing one English alphabet on each card. 
One card is drawn at random. What is the probability that the card drawn 
is a vowel card ? 

1.A two digit number is formed with digits 2,3,5,7,9 without 
repetition. What is the probability that the number formed is -

a) an odd number 
b) a multiple of 5sset 

3. Three coins are tossed simultaneously. Find the probability of the 
following event. 

i) To get atleast two heads. 

2. For a quadratic equation in variable m' ,the coefficients a, b,c are 
such that a=2, b= 4a, c=3a. Form the quadratic equation and 
solve it by formula method. 

in) To get head on the second coin. 
4. Find m, if (mn-12) x2 + 2(m -12) x + 2 =0 has real and equal 

roots. 

QIV. Solve. any one from the following. 

(4) 

i) 
ii) 

1. If 460 is divided by a natural number, then quotient is 2 more than 9 times 
the divisor and remainder is 5.Find the quotient and divisor. 

(6) 

2. If two dice are rolled simultaneously, find the probability of the following 
events. 

The sum of the digits on the upper faces is atleast 10. 
The sum of the digits on the upper faces is 33. 

(4) 

ii) The digit on the first die is greater than the digit on second die. 



MODEL ENGLISH SCHOOL- DOMBIVLI 

First Unit Test (2024-2025) 

STD: X 

DATE: 09-08-2024 

Q.I. Choose the correct alternatives and complete the sentences: 

a) The Coastal Plains 
ob) The Great Escarpment 

c) Indian Peninsula 

2. India is located in the 

1. The area lying to the south of North Indian Plains and tapering 

towards the Indian Ocean is called 

a) Northern and Eastern 
b) Northern and Western 
c) Southern and Eastern 

3. The total coastline of Brazil is 
a) 7,500 

Subject: Geography 

b) 7,400 
c) 7,600 

Q.II. Match the columns: 

Column A 

1. Pico- de- Neblina 
2. Eastern coast of India 

3. Sacred groves 

hemispheres of the earth. 

Column B 

a. Deltas 

km long. 

MARKS:20 

TIME: 1 Hr. 

C. Vanrais 

d. Devrais 

b. Highest peak in Brazil 

(3) 

(3) 

PTO....... 



O.llI, Answer the following questions in one sentence. 
1, What is 'Field Visit' ? 

.2... 

2. What are Kayals ? 
3. Which major river systems are included in Himalayan drainage ? 4. Which parallels of latitude pass through Brazil ? 

Q.IV. Give geographical reasons for the following. 
1. There are dissimilarities between the eastern and western coasts of India. 

2. There are no west-flowing rivers in Brazil. 

Q.V. Answer the following questions in brief. e 

1. What problems did Brazil and India face after independence ? 

All The Best 

(4) 

*** 

(6) 

(4) 



i) 

ii) 31<4 X 

(3) 

(3) 

(R) 

14 



pfr ) Iafa quf fTsI 

i) is 

fTT 

ii) ft-eft 



fic- -c-0RY 

g -

(R) 

() 

(?) 



) H0E 

i) f 

(3) 

(?) 

(?) 

(3) 

(3) 

(3) 

() 

RKS: 20 
1 hr. 

(2) 

'ed 



(3) 

(3) 
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